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A D

As x increases, y increases so 
there is a positive correlation. 
The data is not that close to 
forming a straight line, so the 
correlation is moderate.

As x increases, y decreases so 
there is a negative correlation, 
The data is close to forming a 
straight line, so the correlation 
is strong.

D

As x increases, y decreases so the 
correlation is negative. The data is 
close to forming a straight line, so the 
correlation is strong. However, there is 
one datum that does not fit, which can 
be regarded as an outlier.
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D

The title "Our Doomed Economy" is 
biased, the sample size is very small 
(only five months) and the vertical scale 
has been altered (doesn't start at zero) 
so as to exaggerate the increase in the 
unemployment rate.

a) Both of these sales are associated with winter, so we can 
characterize this as a common cause relationship.
b) It is likely that box office sales will decrease as tickets become more 
expensive, so we can characterize this as a reverse cause and effect 
relationship.
c) We can say that height can play a role in driving safety but it is 
difficult to prove, so we can characterize this as a presumed 
relationship.
d) There would appear to be no obvious connection between the sales 
of cheeseburgers and pitas, so we can characterize this as an 
accidental relationship. 
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a) As a team is more successful, attendance at the games is likely to 
increase. People tend to attend more games when their team is being 
more successful. The better they do, the more fans will attend.

b) As a team gets more support from its fans, their results tend to 
improve. So as they get more support (an increase in attendance), 
they will be more successful, and therefore move up the league 
standings.

a) There appears to be a strong, 
positive linear correlation.

b) The equation of the line of 
best fit is y = 3.91x + 0.66, 
where y is the speed of the 
skydiver in m/s and x is the time 
since jumping in seconds. 

The r­value is 0.996 which means that the equation is a very good fit. 
The equation shows that the skydiver's speed started at 0.66 m/s and 
will increase a rate at 3.91 m/s.
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a) There seems to be two 
trends. At first there is an 
increase in user numbers 
and then there is a 
decrease in user numbers.

b) The r­value is 0.292 which 
suggests a weak, negative 
linear correlation. 

The equation of best fit is y = ­0.065x + 2.3227 where y is the number of 
users in millions, and x is the time in months. The equation shows that 
the numbers of users started at around 2,320,000 and is decreasing at 
a rate 65,000 users per month.

c) The residual plot suggests 
that the model is not a good 
fit. Whenever the residuals 
look a bit "parabolic" (u­
shaped or n­shaped) this 
suggests that a better model 
is possible. We actually have 
two linear patterns here.

d) There could well be a hidden variable as in month 8 there is a sharp 
drop in user numbers.

e) The website started charging a fee in month 8. This is what caused 
the drop in user numbers and turned the trend from positive to negative.

f) Looking at the two different 
trends separately, we can see 
that they both have strong 
models (r­values of 0.996 and 
0.992 respectively). The first 
model is for when there was 
no fee and it showed an 
increase of around 364,000 
users per month. When they 
changed to charging a fee 
there was a sharp drop in 
numbers, so that they started 
with around 1.7 million users 
and were then losing around 
210,000 users per month. 
Using the model of y = ­0.21x 
+ 3.42 the website will have 
no users by month 17.
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